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A 9T nina*

1. The Mishna says, 15 Dn'NNY NNVIS 0'wa from DIA NX'7N. Since these fifteen are all niMy, why
doesn’t the Mishna say 15 NIy exempt the rival wives, instead of using the generic n'wa?

2. On the NNy of INiNN Rashi says that his mother-in-law’s husband died and she than married his
brother. Why doesn’t he choose a simpler case, where he married his niece and than his wife died, before
his brother.? Even though his brother had a child, since when his brother died he did not leave children
there is still a D' nixn?

3. 'oIn asks why a nT is not considered an nNy for DIa' and suggests than even while she is stilla nT he
can fulfill the mitzva of DIa'. Why isn’t it a n0'aya Xan nixn?

4. When the mawn says that Nn217'X is DIA™M 1109 it says that they were “found to be unable to have kids”
why is this necessary, since the ni¥n is oW I'NK7 D'PN%, even if we knew all along that she is an Nn1I7'x
there shouldn’t be a nixn?

5. When it says ‘IDI INiMN2 117 712' nNX 'XI that they were found to be an N117'K, since they obviously
had children already, what is it telling us? Isn’t it obvious without the niwn pointing it out?

6. On MI71va N'n K7W I'NX WK rashi explains that if there is no nixn of DIa* she is an NNy on the
brother just like she would be if his brother died and left kids, and the same way that she is an nny her
MY is also N1V. If every time that there’s no nIa* she becomes an NNy for that brother forever, why do
we need a special 7109 to tell us that subsequent times that a n1x falls for DIar she is V109? Since there’s
was no nIx¥nN in the prior time, she became forever an NNy of 012 17 W' NX NWKX and her nX is in the
same boat. (This is similar to the famous question of Na'x xa'py 1N).

If you have any comments or suggestions please email me at Ygrunhaus@gmail.com
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